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INFORMATION AND FORMULAE
MENSURATION

ium
Parallelogram Triangle Trapezl

Lopanl k. Arnsduind N

Area = bh Area = 1 bh Area=3(a+bh
Circle (radius r, diameter d) Circumference = 2nr or nid
Area = ntr?
Cylinder (radius r, height k) Volume = nrzh

Prism Volume area of cross-section X length

e.g. triangular prism

Cross-

TRIGONOMETRY

Right-angled triangle

r
M 4 r? = x2 + y?, (result of Pythagoras)

X

e
o‘e’oos
‘(ﬂi opposite

adjacent

: opposit j i
sinA~-_OPPOSI® . ,_ _ddjacent . _ opposite
. hypotenuse hypotenuse adjacent

NUMBER
Standard form is a x 10" where 1 <2 <10 and n is an integer.




Express this ratio in its simplest form.

96cm:2.4m [2]

Light travels at 1.86 X 10° miles per second. Calculate how far it travels in a minute, giving your

answer in scientific notation (standard form). %
Solve X __ 7 _x
12 2 “
(a) Solve the inequality 9 + 11x < 42 2]
(b) Write down the solution set of natural numbers that satisfy the inequality in (a).
[2]
Evaluate
(a) 53 [1]
(b) 9° [1]
© @ L
(d) 4-2 i

Jerry had $100. He went to a Computer Store, a Book Store and a Music Store. He spent three times
as much money in the Computer Store as he did at the Music Store. He spent $12 less at the Book
Store than at the Music Store. He then had $37 left.

(a)

Using x to represent the amount he spent at the Music Store, express in terms of X

(i) the amount spent at the Computer Store, [1]
(ii) the amount spent at the Book Store. [1]
Form an equation in terms of x for the total amount of money spent. [1]

Solve the equation formed in (b) to determine the amount of money spent at the Music
Store. - [2]
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7s Solve the following pair of simultaneous equations

3
==X
A [5)
3x+2y+4=0

d label AABC such that

8. (a) Using a ruler, compass and pencil only, construct an (5]
AB=11.2cm, AC=9cm and £ CAB = 60°.

(1]

(b) Measure and write down the size of ZABC.

is a tangent to the circle at A4.

9. (a) AB is a diameter of the circle ABC with centre 0. AD (1]
LADC = 56°. &
A D
569
C
O NOT TO SCALE
B
Calculate (i) £LBCA, [1]
(ii) L ABD, [1]
(iii) <4 CAD. [1]
(b) Each interior angle of a regular polygon is 165°.
Calculate
@) the size' of each exterior angle, : 1]

(ii) the number of sides of the polygon. [2]




10. Use the formula Q=3 ~5thto
. (a) calculate the value of
@) O when r=7 and h =6, (2]
()  hwhen Q=332 and =16, 3]
(b) make / the subject of the formula. [2]
11.

The diagram Tepresents a triangular prism of length 19 cm. The triangular cross-section has sides
of length 10cm, 11.3 cm and 14cm, and a height of 8 cm.

11.3cm

L e
T 4R TEy Ty ey 2 2w e

NOT TO SCALE
I
10cm :
:
!
=]
14cm
Calculate
(a) the area of the cross-section, [2]
(b) the volume of the prism, [2]
(©) the total surface area of the prism. [3]



12. £ = {positive numbers less than 30}
L = {positive multiples of 2 less than 30}
M = {positive multiples of 3 less than 30}
N = {positive multiples of 5 less than 30}
(a) List the elements of
(@) L, (1]
i M ]
Gy N, [1]
Gv LNN, : (1]
v) M'ON. (2]
(b) Determine n(L U N). (1l
(c) Describe the set LN M in a similar manner as the descriptions given for the sets L, M
and N. [1]
13 (a) Factorise completely
12pg® + 3p — 6p’q [3]
(b) Simplify

2
0 (é%) 3]
n

(ii) 13—3(@+5)+4t [3]




14.

it

Thg diagram shows tr. ;
Cis 18.9m from B and the angle of elevation at C to the top of the antenna is 56°.

A

T

NOT TO SCALE
25.2m
56°
B 18.9m C

Calculate, giving your answer correct to one decimal place,

ansmission tower 7B of height 25.2 m topped with an antenna A7" The point

32

(a) the length of 7C, [3]
(b) the angle, B7C, [3]
(c) the height of the antenna, A7. [4]
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15.

ANSWER THIS ENTIRE QUESTION ON THE GRAPH PAPER PROVIDED.

(a)

(b)

(©)

(d)

(©)
(f)

1

Copy and complete the following table for the graph of y = -2—5—3,:— ]

3 —7 —25 B 2 8
& = ] 2]

Using a scale of 1 cm to 1 unit for each axis, and values —8 < x < 10 and —8=y=10,
draw the graph of the line y = 2—"3’—1 : g
Calculate the gradient (slope) of your graph in (b). 14

Another graph has the equation y = 3; Draw this graph on the same coordinate plane. .
1

Write down the gradient (slope) of the graph in (d). t

Write down the coordinates of the point where the graphs intersect. (1]




16.

7 N

ANSWER THIS ENTIRE QUESTION ON THE GRAPH PAPER PROVIDED.

y
5
4
3
5 \S;
] [
e P>
0 1 2 3 4 5 L
(a) Using a scale of 1 cm to represent 1 unit on each axis, taking values of x from
—8<x<10and values of y from —8 <x < 10, copy and draw the above quadrilateral A.
[3]
(b) Draw the image of quadrilateral A after a rotation of 180° about the origin. Label it B.
[2]
(©) Translate quadrilateral 4 by ( LSJ . Label the image C. [2]
(d) Reflect quadrilateral A in the line x = — 1. Label the image D. [2]
(e) Enlarge quadrilateral 4 by a scale factor of 2 through the origin.
Label the image E. [2]

End]



